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CS301 RO R, 7 . cacassississiinies

: 2022 '
DATA STRUCTURE & ALGORITH

fPuifaama . 392 [Fftreman 3 : 70
Time allowed : 3 Hours] [Maximum Marks : 70
Fe: (i) ¥R HAEE 8, 997 G [T T & IR T |

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) N%F ¥97 & G YT 1 FHHEAR T G §F HHord |

Solve all parts of a question consecutively together.
(iii) N F H 79 753 & JREY B |

Start each question on fresh page.

(iv) @ yTwTail § 3R &7 @1 fRyfa 7 i 3qag 8 A= 8 |

Only English version is valid in case of difference in both the languages.

L () C ¥ 3veren oo fRr (Rizw) g waad & fafed |
Write some of the static data structures in C.
(i) Tofae foree o &1 areft gt wfsranati w1 forfad |
Write the basic operations carried out in a linked list.
(iti) W au foiere fore & e s =t 5aT3d |
State the difference between stacks and linked lists.
(iv) TS T FR 7

What is priority queue ?

(v) TR ?
What is graph ? (2x5)

)

i) Feire fore 1 3wam %0 & o 9 w1 S gefag i |

List out the advantages and disadvantages of using a linked list.
(i) feide fore ¥ o= H we e Sied & fore wemften ferfie |
Write an algorithm to add a node at the end of linked list. (6x2)
(10f2) P.T.O.
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et sAfeam =iws I NfheE § age & aRF 39 # FW A i i
foafga |

Write the rules to be followed during infix to prefix conversions.

OF % 219 & U 37999 & gH & foru wenfren fafa |

Write an algorithm to delete an element from the top of stack. (6x2)

T AT I HHHTEY a1 el 1 Uifyd e i faft wmeed |

Explain the advantages of structure and explain the process of declaration of
structure.

ueifen ¥ faveraur # TuwTEd au1 SHa 9 T Sfeedr S ot auasd |

Explain the analysis of algorithms and also explain time, space complexity.  (6x2)

Y, W Y e F4 B 7 T |

How is the queue different from the stack ? Explain.

TR o § saadl B A e Ay Faetya fea mar @ 7 SaE |ied
ey |

How elements are deleted and inserted in a circular queue ? Explain with
examples. (6x2)

fopeft el 2 U - 3t Fafdn (qrome) i Sere fEd aHesd |

Explain post-order traversing in binary tree with example.

feu e gadewn i wEEd & "Rl & SR

Construct the binary tree with given traversals :
Precordker: A B D H E C F G

In-order : DHBEATFTCG (6x2)
= wfin & & fere i wemften fefian |

Write the Prim’s algorithm for minimum spanning tree.

I & fafir=r STy %1 GRS |

Explain various applications of a graph. (6x2)
T |1 & feru uemfren fefigu |

Write an algorithm for merge sort.

FT=afieh Ul |Tel |t i HHHATIT, |

Explain internal and external sorting. (6x2)




